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QUESTION 1

A customer has several clusters of Aruba 325 Instant APs. The customer is happy with the performance of the current
APs, but would like to add a Mobility Controller (MC).

What should the architect propose?

A. the purchase of Universal APs that are the same modes as the current APs.

B. Aruba ClearPass to onboard the APs as campus APs in the new MC-based deployment
C. conversion of the existing Instant APs to campus APs (CAPSs)

D. a Virtual Mobility Controller (VMC) which can be licensed to control Instant APs

Correct Answer: D

QUESTION 2

An architect needs to plan an 802.11ac wireless upgrade for a university building. What is one reason that it is important
for the architect to identify auditoriums?

A. Auditoriums typically require a high-density AP design for RF coverage.

B. Users in Auditoriums often have Bluetooth devices, which can be a source of interface in the 5 GHz band.
C. Auditoriums typically require the use of 80 MHz channels to meet bandwidth requirements.

D. Auditoriums often require the use of DFS channels for sufficient 20 MHz channels.

Correct Answer: D

QUESTION 3
Refer to the exhibit.

Exhibit 1 shows the logical plan, and Exhibit 2 shows the BOM created with IRIS. An architect plans to propose two
5406Rzl switches as a VSF fabric for a campus network core. Which issue with the plan should the architect correct?
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Exibit 2
Lna® Part Nurmber Descrption Manufacturer Unk Price Quantity Total Price List
1.00 JEZ1A Aruba 5406R 10 Swich Hewlett Paciard Enter... $2.419.00 2 $4,638,00 USA Price Lst (USD)
1.0l  HIMTOE HPE 3Y FC 24x7 Aruba S406R 2 Swite SVC [for J9821A] Hewiett Padkard Enter... $4,094.00 2 $5,188.00 WUSA Price List (USD)
1.02  U4832E HPE Networks S4o0/82xx 2 Startup SVC (for 19621A1 Hewiett Packard Enter... $2,325.00 2 $4.650.00 USA Price List (USD)
103 N828A Aruba S400R TOOW PoE+ 22 PSU Hewlett Packard Enter... $799.00 2 $1,5968.00 USA Price List (USD)
104 NEIEA  ARA INCLUDED: Power Cord - LS. bbcalration Hewlett Pacdkard Enter... incl. 2
1.05 )I996A Amuba Zp 40GbE QSFP+ v3 12 Mod Hewdett Packard Enter... $6,799.00 4 $27,196.00 USA Price List (USD)
1.06 19538A HPE 8-port 10GYE SFP+ v2 2l Module Hewiett Packard Enter... $4,700.00 4  £19,196.00 USA Pnce List (USD)
2.00  M234A HPE X242 40G QSFP+ to QSF*+ 1m DAC Cable ‘Howiett Packard Enter... _$419.00 2 $838.00 USA Price List (USD)
Quote Total $66,504.00

A. Add two QSPF+ MP0O SR4 transceivers.
B. Change the v2 modules to v3 modules.
C. Add stacking modules and cables.

D. Change the power supply type.

Correct Answer: B

QUESTION 4

A customer needs a wireless solution upgrade. Among the devices that need wireless access are printers. What
information about the printers does the architect need to plan the wireless solution? (Select two.)

A. whether the printers are physically locked down

B. the identify of users who need to access printers

C. whether the printers support Power over Ethernet (PoE)
D. whether the printers support 802.1X

E. the 802.11 standards supported by the printer

Correct Answer: C
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QUESTION 5

Refer to the exhibit.

8 strands OM4 Multi-Mode fiber between each building
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An architect selects 5406R switches for the aggregation layer.

What is the maximum bandwidth possible between the aggregation and core layers using 8 strands of OM4 MM fiber at
the distances indicated in the diagram?

A. 60 Gbps

B. 160 Gbps
C. 200 Gbps
D. 320 Gbps

Correct Answer: D
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